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You caused me a greater encirclement — R0 X2 %% naa NN

OVERVIEW

The X3 inferred from a mwn that if someone encircled his friend’s property and
built a fence around all four sides, the insider (the 7{°1) must contribute to the cost
of the fence, even though it is seemingly n"?m1r for the 7°pn (since he made the
fence for his property). The X713 rejected this proof because the 7°pn is indeed a
7on for he claims that the 7°1 caused him to make a larger fence. There is a dispute
between "1 and NMvOIN regarding this fence and the X7°n° X9°p1.
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It is apparent from >''w=p that we are discussing a fence between the fields of
the 7°p and the field of the nps1.

nooIN asks on >"wA:
— 90N PR AN MMM %9 2YUN *99NT nvp

And there is a difficulty with >"w25, for how can this be considered a case of

7' —
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Since that entire inside wall was only made to separate between the fields of
the 7°p and the field of the nPs1?!

mooIN poses an additional question:
— QPPN NI D3 5Y N NN 91D 1D MINT MY

And additionally, the 7°Pn should have said, ‘you caused me this entire

encirclement’, but not (only) X1°’n° 8P —
— MANY DY DY YNIYN NN NOYPNT

Since Xn9°n° X277 means only that the 7°1 caused the 7°P1 to increase the length
of the fence, when in truth he caused him to build the entire (inside) fence.

! See o™ax on who claims that Mpon had a different X073 in "7 than we have; for in our (X7 71" 973 7"7) *"wA
it states so clearly (it is not ‘merely’ ynwn).
* According to *"wA the 7°pn had a fence on the outside perimeter of his property, and in addition he made another
fence between him and the 7°1. The 7°pn therefore claims that the 71 caused him to make the inside fence.
3 n">mar would mean (in this case) since the 7°pn is building (an outside) wall for his benefit, so why should he claim
money from the 71 who is automatically also receiving a benefit. However according to *"" the only reason the
7°pn is building the (inside) wall is to protect him from the 7p°3; this cannot be called a qon 82! See ‘Thinking it
over’.
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mooIn offers his interpretation:
— 4‘]",77‘ MMM 715 2520 \ININY NN NIN

But rather m»01n view is that the 7°p» encircled with a fence on the outside on
all four sides -

INTN I 551‘1} GP2NN SYNNND NTY HNINNY DIVN RN NP
And it is referred to as a X730 X237 because on account of the middle field
(which belongs to the 7p°1) the perimeter of the 7°P» is much greater.

SUMMARY
According to *"w1 the fence was between the 7°p» and the p°1; according to N1BOIN
it was around the outside perimeter of the 7pn.

THINKING IT OVER

Why does mooin assume that according to *"w1p it cannot be considered 7om X?
since he is building the fence only because of the n»>1?° However the ap°1 did not
force the 7°pPn to build this fence; the 7°pn did it for his own benefit, why is this
considered a qom?!’

* We are discussing the outside fence which the 7°p» made on his outside perimeter (not between him and the np-1).
Therefore initially the X3 assumed that the 7°pn is 701 X7 (on account of the 7°1), since he needs this outside fence
for himself (regardless where the 71 is), and the 71 derives a benefit from it, so it is a case of n"nar.
> The response was that the 7°p» is 701 because of the 71, for if the middle field (of the 7°1) would not be there, the
7pn would require less fencing to encircle the area of his property.
® See footnote # 3.
7 See 1"am1 and mo MK *"2. See (XTI 7721 M2 731 7172 19I02) TR MR 2L AL
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